Карточка-инструкция
	    11 - (5 - 19) = 11 - 5 + 19 = 6 + 19 = 25


	- 11 + (5 - 19) = - 11 + 5 - 19 = - 11 - 19 + 5 = - 30 + 5 = - 25




Индивидуальные карточки
	   - 17 + (9 - 23)


	     14 - (9 - 28)


	   - 0,56 + (3,8 - 2,44)




Контрольные талоны
Билет 1.
1.Раскройте скобки и найдите значение выражения
а)    3,7 - (-5,3 + 3,7); 
в)   -0,56 + (3,8 - 2,44);
2.Упростите выражение
а)   x-(x -y); 
в)   (c + 4,9) - (5,4 + c).

Билет 2.
1. Раскройте скобки и найдите значение выражения
а)    - 6,1 + (-4,8 + 6,1) ;
в)   -0,37 + (4,2 - 4,63);
2.Упростите выражение
а)    a - (b + a); 
в)   (n - 5,8) - (4,9 + n).


Билет 3.
1. Раскройте скобки и найдите значение выражения
а)    6,8 + (-2,8 - 6,8) ;
в)   -8,27 - (-3,4 + 3,73);
2. Упростите выражение
а)    (m  - n ) + n; 
в)   (6,08 + a) - (a + 9,3).

Билет 4.
1. Раскройте скобки и найдите значение выражения
а)    4,9 - (4,9 - 2,4); 
в)    -2,78 + (7,78 - 1,3);
2. Упростите выражение
а)    (x + y) - y; 
в)   -(m - 3,8) + (4,12 + m).



